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 The article’s first sentence – “Some wondered if the bosses of 

Venezuela’s oldest rum company had been sampling too much of their 
own product” – was most likely written to 

 
 severely criticize an obviously disastrous business decision. 
 highlight in an amusing way the historical popularity of Ron Santa 

Teresa rum in Venezuela. 
 present in an ironic way one negative opinion of a traditional 

company’s apparently unusual financial decision. 
 point sarcastically at some of the reasons for Venezuela’s disastrous 

economy. 
 emphasize how various companies in Venezuela are finding 

innovative ways to survive in a bad economy. 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 The information in the article most supports which of the following? 

 
 Ron Santa Teresa was forced to sell shares as part of an 

international-distribution agreement. 
 Ron Santa Teresa committed a terrible financial mistake when it 

priced its shares in bolívares. 
 To issue shares in an economy as precarious as Venezuela’s, the 

directors of a company would have to be either incompetent or 
desperate. 

 Ron Santa Teresa has survived worse economic situations than the 
one it is in right now. 

 The fact that Ron Santa Teresa’s share offer was priced in 
bolívares was probably not its most troublesome aspect. 

 
 

  

Texto para as perguntas de 1 a 8 
 

 

RUM IN VENEZUELA 

 

1        Some wondered if the bosses of Venezuela’s oldest rum company had been sampling [provando] too much of their product. In January, with Venezuela 

in one of the deepest recessions in modern world history, Ron Santa Teresa launched the country’s first public share issue [oferta de ações ao público] in 

more than a decade. The new equity [ações, participação financeira] was priced in bolívares, the world’s worst performing currency. Others speculated 

that the rum-maker, which daringly notes on its website that its distillery in the Aragua valley near Caracas has survived “wars, revolutions, invasions, 

even dictators”, had decided that change was taking place. 

2        Evidence of the second interpretation is that the latest dictator, Nicolás Maduro, has recently become a capitalist, sort of. The disciple of Hugo Chávez 

(whose "21st-century socialism" set Venezuela on its road to ruin) has quietly lifted price controls and restrictions on dollar transactions. He now says firms 

can issue shares in hard currencies [moedas estáveis, de confiança]. He is thought to be contemplating a sale to foreign investors of a stake [participação 

financeira] in PDVSA, the decrepit state oil company. 

3        Ron Santa Teresa’s president, Alberto Vollmer, a fifth-generation rum-maker, says the company, whose shares were already listed, needs the money 

to buy barrels and build warehouses. It signed an international-distribution deal with Bacardi in 2016. Mr. Maduro’s tentative pro-market turn is “a happy 

coincidence”, he says. The sale of 1 million shares, which raised the equivalent of $300,000, was a fillip [estímulo] for the near-dormant stock market, 

which lists just 31 companies. Demand exceeded supply. 

4        The investors are not as daft [tolos, malucos] as you might think. Although denominated in bolívares, share prices tend to keep pace with inflation. This 

has dropped, from an annual rate of more than 2 million% early in 2019 to a mere 9,500% for the year. That is partly because the government has increased 

the amount of reserves that banks must hold. 

5        But this has caused a shortage of bolívares. The total amount of bank loans is the equivalent of $225 million, less than 0.5% of GDP [PIB]. Sanctions 

imposed by the United States and EU have made lending harder. The share issue raised more money in a day than the large banks could lend to Mr Vollmer’s 

firm. 

6        No one expects a dramatic recovery of the economy, which has shrunk by two-thirds since Mr Maduro took over from Chávez in 2013. But Mr Vollmer 

welcomes the shift towards pragmatism. ”That is what happens when you run out of money to fund ideas that didn’t work.” 

Adapted from The Economist, February 8th 2020. 
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 The first word of paragraph 2 – “Evidence” – most likely refers (at least 

in part) to which of the following? 
 

 Nicolás Maduro has begun openly to repudiate the policies of Hugo 
Chávez. 

 Nicolás Maduro has recently come out unconditionally on the side 
of capitalism as opposed to socialism. 

 Despite government propaganda affirming the contrary, price 
controls in Venezuela are now stronger than ever. 

 Companies in Venezuela wanting to sell shares to investors 
no longer need to price those shares in bolívares. 

 It is only a question of time before a controlling interest in PDVSA, 
Venezuela’s state oil company, will be sold to foreign investors. 

 
 
 With respect to Venezuela’s economy, the information in the article 

most supports which of the following?  
 

 It is undeniable that Nicolás Maduro’s economic policies are worse 
than those of Hugo Chávez. 

 Because Venezuela’s economy had collapsed, Ron Santa Teresa 
could save itself only by building up its production and storage 
capacity in order to export. 

 Alberto Vollmer had no way of knowing that Nicolás Maduro was 
going to loosen government controls on Venezuela’s market. 

 After the success of its first public share issue, Ron Santa Teresa is 
now planning to sell more of its shares to the public. 

 It is probably unfair to say that Venezuela’s economic 
problems resulted exclusively from Nicolás Maduro’s policies. 

 
 
 The “happy coincidence” mentioned in paragraph 3 most likely refers 

to the fact that 
 

 Ron Santa Teresa launched its public share issue at the same 
time that Nicolás Maduro became more market friendly. 

 Ron Santa Teresa entered into an international-distribution 
agreement at the same time that Nicolás Maduro became more 
market-friendly. 

 Ron Santa Teresa succeeded in selling all of its shares in dollars, just 
before Venezuela’s currency suffered another serious devaluation. 

 Ron Santa Teresa’s successful public share issue also gave new life 
to Venezuela’s moribund stock market. 

 Venezuela’s economy came back to life exactly when Ron Santa 
Teresa decided to issue shares. 

 
 
 
 
 
 
 
 
 

 
 
 The first sentence of paragraph 4 – “The investors are not as daft as you 

might think” – most likely refers to which of the following? 
 

 Since Ron Santa Teresa shares are no longer available, the investors 
have already made an excellent profit. 

 The fact that the bolívar is the world’s worst performing 
currency will, by itself, probably have little impact on the 
future value of Ron Santa Teresa’s shares. 

 The fact that inflation is now falling in Venezuela will give an extra 
impetus to the value of Ron Santa Teresa shares. 

 Considering the precarious state of Venezuela’s economy, investing 
in a stable, prosperous company like Ron Santa Teresa makes good 
sense. 

 The large volume of foreign investment money that will now enter 
Ron Santa Teresa will significantly raise the price of that company’s 
shares. 

 
 
 According to the information in the article, recent pro-market decisions 

taken by Nicolás Maduro and his government have most likely led to all 
of the following except 

 
 Venezuela’s stock market now lists a total of 31 companies. 
 companies needing large amounts of capital may be encouraged to 

issue shares rather than borrow money from banks. 
 certain parts of the economic orientation established by Hugo 

Chávez are now being discreetly rejected. 
 the successful fight against inflation has caused at least one 

problem for Venezuela’s banks.  
 despite sanctions imposed by the United States and the EU, it is 

now easier to work with dollars in Venezuela. 
 
 
 “That” – the first word in the article’s last sentence – most likely refers 

to 
 

 Ron Santa Teresa’s reluctant decision to issue shares priced in 
bolívares. 

 the current shortage of bolívares, which makes it difficult for 
Venezuela’s banks to lend significant amounts of money. 

 Nicolás Maduro’s tentative but noticeable rejection of certain 
socialist principles in favor of capitalism. 

 the destruction of Venezuela’s economy that began during the 
government of Hugo Chávez and has continued during the 
government of Nicolás Maduro. 

 the application of specific economic policies that have finally begun 
to reduce Venezuela’s galloping inflation. 
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 According to the information in the article, Lloyd Spencer Davis 

 
 discovered and wrote about two male penguins at the Berlin Zoo 

that had adopted and were hatching an egg. 
 did field work that mirrored certain discoveries that George 

Murray Levick had made in his own field work. 
 was surprised to discover that all of his field work had been 

anticipated many years before by George Murray Levick’s field 
work. 

 is the author most responsible for rehabilitating the posthumous 
reputation of the surgeon and naturalist George Murray Levick. 

 is the naturalist most responsible for exposing the dark, even 
scandalous nature of penguins. 

 
 
 
 
 

 
 The information in the article most supports which of the following? 

 
 To a certain extent, the public morality of Victorian England 

discouraged the dissemination of key scientific information 
about penguins. 

 If Lloyd Spencer Davis had not decided to make a thorough study of 
penguins, George Murray Levick’s discoveries would have 
remained hidden. 

 The fact that George Murray Levick wrote in Greek about the sex life 
of penguins is proof that he never intended to make that 
information public. 

 If the results of George Murray Levick’s field work had not been 
translated from Greek to English in 2012, the public would still not 
know key information about the sex lives of penguins. 

 The history of George Murray Levick’s scientific studies of penguins 
shows that science and public morality are antagonistic and must 
be kept separate. 

 

Texto para as perguntas de 9 a 15 
 

A POLAR AFFAIR 

 

1        A report this past summer that two male penguins at the Berlin Zoo had adopted and were hatching an egg was no surprise to New Zealand naturalist 

Lloyd Spencer Davis. From his decades of field work, he knew penguin behavior included homosexuality, infidelity, divorce, rape, and even necrophilia. 

However, he had been surprised a few years earlier to learn that these behaviors had been discovered by the author of the very first book on penguins, 

George Murray Levick, a surgeon and naturalist on Robert Scott's 1911 Antarctic expedition. 

2        Levick, in keeping with the public morality of Victorian England, found penguin sex reprehensible, confining his observations to logbook entries 

encrypted in Greek characters. His short paper on the subject as a chapter in his landmark Antarctic Penguins: A Study of their Social Habits, was 

suppressed by the publisher and remained unknown until 2012, when a copy was found in a file box at the British Museum. Antarctic Penguins, thoroughly 

bowdlerized [expurgado], "treats the mating behavior of the penguins as if they were married couples," writes Davis. As a result, "pretty much every book, 

documentary and scientific paper" up until the late 1990s, "collectively suggest that penguins are prim and proper [recatados e bem comportados], 

monogamous little creatures that mate for life.” 

3        To correct the historical and biological record, and to give belated credit to the man who discovered a century earlier the sexual life of penguins, Davis 

consulted Levick’s original notes and visited important sites in the naturalist’s career. The result is the book A Polar Affair: Antarctica’s Forgotten Hero and 

the Secret Love Lives of Penguins, an expert journalistic retelling of the Antarctic expeditions of the early twentieth century, centered on Levick’s year of 

observing penguins. The climax of what otherwise would have been routine field work is a harrowing [horrível, traumático] trek by Levick and several 

companions to explore Antarctica’s north coast, where they were forced to spend the winter in a snow cave. Without Levick’s rationing of seal meat and 

his community-building readings from a book of stories, no one would have survived. Levick’s saga [narrativa épica] is interwoven with well-worn threads 

about the explorers Scott, Nansen, Amundsen, and Shackleton, occasionally interspersed [entremeada] with evolutionary insights Davis gleaned [colheu] 

from his own observations of penguins. 

4        Ironically, the sex lives of the humans in this story are as tangled [embaraçadas, complicadas] as those of the penguins. Fridtjof Nansen was as famous 

for his romantic conquests as his "conquests of Arctic regions." Roald Amundsen dallied [namorava por divertimento] with married women. Robert Scott's 

wife, Kathleen Bruce, embodied raw sexual selection – she chose Scott, according to her own testimony, so she could bear [dar luz a] a hero's son – and 

she may have had liaisons with several of his friends. Murray Levick, notably, is one of the few figures in this book to have comported himself as a 

supposedly proper penguin. Davis's book is, thus, a welcome look behind the scenes, representing Levick as a brilliant explorer and a keen observer of 

nature. 

Adapted from Natural History, October 2019. 



 

4 

 
 

 With respect to the book Antarctic Penguins: A Study of their Social 

Habits, the information in the article supports all of the following 
except  

 
 unofficial censorship damaged the quality of the book but did not 

eliminate its importance. 
 thanks in part to the British Museum, certain old, erroneous ideas 

attributed to George Murray Levick were finally corrected. 
 the book was so important that the data it presented about 

the sex lives of penguins was never contradicted until the end 
of the 1990s. 

 according to Lloyd Spencer Davis, the book seems to give the idea 
that married couples do not engage in “scandalous” sexual 
behavior. 

 hiding the full truth about the sex lives of penguins may have been 
more a decision of the book’s publisher than of the book’s author. 

 
 

 According to the information in the article, 
 

 Lloyd Spencer Davis discovered George Murray Levick’s book when 
he was doing research on his own book about penguins. 

 A Polar Affair is the first truthful account of the surprisingly 
adventurous sex life of penguins. 

 ironically, it is only because Lloyd Spencer Davis is more of a 
journalist than a scientist that we finally have an accurate overall 
picture of the life of George Murray Levick. 

 a desire to tell the truth about George Murray Levick’s life and 
work led Lloyd Spencer Davis to write a book dealing not only 
with Levick, but also with penguins, several Antarctic 
explorers and expeditions, and some ideas about evolution. 

 it is only because of Lloyd Spencer Davis’s book that George Murray 
Levick’s greatness as a naturalist has finally been recognized. 

 
 

 Which of the following is most likely an aspect of the “climax” 
mentioned in paragraph 3? 

 
 George Murray Levick’s decision to explore Antarctica’s north coast 

came as a surprise to his companions. 
 George Murray Levick and his companions were trapped in a snow 

cave during the entire winter. 
 Seal meat was the only food that George Murray Levick and his 

companions had during their winter on Antarctica’s north coast. 
 If everyone on that expedition had died, George Murray Levick’s 

revolutionary discoveries about penguins would have been lost 
forever. 

 George Murray Levick’s wise use of food and literature helped 
the members of the expedition to stay alive during that 
winter on Antarctica’s north coast. 

 
 
 
 

 
 

 Although the short paper that George Murray Levick wrote on the true 
nature of penguin sexuality was discovered in 2012, 

 
 his reputation as a naturalist had already begun, some years 

before, to return to its former high level. 
 correct information about penguin sexuality had started to 

become available before then. 
 there were at first some legal restrictions on making that 

information available to the scientific community.  
 finding a way to fit that information into his book about the 

Antarctic expeditions of the early twentieth century proved to be 
an almost impossible task for Lloyd Spencer Davis. 

 Lloyd Spencer Davis was the first respected naturalist to 
understand the crucial importance of the information in that paper. 

 
 

 The information in the article most supports which of the following 
statements? 

 
 Despite the wild, adventurous reputation of Antarctic penguins, 

violent, forced sex does not take place among them. 
 The public morality of Victorian England stipulated prison 

sentences for certain kinds of sexual behavior. 
 Because Antarctic penguins are wild animals, the public morality of 

Victorian England never had anything to do with them. 
 Apparently, the real sexual behavior of George Murray Levick 

was similar to the imagined sexual behavior of Antarctic 
penguins. 

 Kathleen Bruce admitted that she married Robert Scott only as a 
means to a sexual end.    

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Fim da Prova de Língua Inglesa e Interpretação de Textos 
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 Leia o trecho abaixo e depois assinale a alternativa correta. 
 

O último sacramento é o matrimônio. Embora todos admitam que tenha 

sido instituído por Deus, ninguém tinha visto que fosse um sacramento até o 

tempo de Gregório [papa]. E a que homem sóbrio e de bom-senso isso 

ocorreria? A ordenação de Deus é boa e santa; mas também o são a 

agricultura, a arquitetura, o ofício de sapateiro e o de barbeiro, são 

ordenações de Deus legítimas, e, no entanto, não são sacramentos; pois, para 

que haja sacramento, não somente se requer que seja obra de Deus, mas é 

necessário ainda que exista uma cerimônia externa, ordenada por Deus, para 

confirmar a promessa. Ora, até as crianças poderão julgar que não há nada 

semelhante no matrimônio. 

 
CALVINO, J. A instituição da religião cristã. São Paulo: Editora Unesp, 2007, tomo 2, p. 871. 

 
 O texto de Calvino insere-se no movimento contrarreformista 

católico e propõe a discussão do matrimônio como sacramento. 
 A contestação do caráter sacramental do matrimônio, 

proposta por Calvino, vinculava-se à chamada Reforma 
Protestante do século XVI. 

 Apesar de contestar o matrimônio como sacramento, os calvinistas 
mantiveram as restrições ao casamento de seus sacerdotes. 

 Para Calvino, o matrimônio só poderia ser considerado um 
sacramento se autorizado pelos sacerdotes católicos. 

 A partir do texto de Calvino, percebe-se a crítica ao matrimônio 
cristão como uma mera formalidade social sem qualquer 
vinculação com a religião. 

 
 

 Duas frases ficaram celebrizadas por Leopoldo II, rei da Bélgica: “A união 
faz a força” e “O forte é mais poderoso sozinho”. As ações do rei belga 
acabaram por estimular a realização da Conferência de Berlim, que 
transcorreu de novembro de 1884 a fevereiro de 1885. Estiveram 
reunidos representantes de 13 Estados europeus além dos Estados 
Unidos e do Império Otomano. O principal tema de debates e 
negociações do evento foi: 

 
 A pacificação da Europa após a Guerra Franco-Germânica. 
 Os limites à expansão imperialista dos Estados Unidos no Pacífico. 
 A desmilitarização do Império Otomano. 
 A partilha do continente africano pelas grandes potências.  
 A democratização da América Latina. 

 
 
 
 
 
 
 
 
 
 

 
 
 

 Leia os dois trechos abaixo, acerca da Revolta da Vacina (1904) e da 
Gripe Espanhola (1818), respectivamente, e depois assinale a 
alternativa correta. 

 

E foi na intersecção sufocante dessa malha densa e perversa que a 

população humilde da cidade viu reduzirem-se a sua condição humana e sua 

capacidade de sobrevivência ao mais baixo nível. A equação dessas injunções, 

vistas pelo seu ângulo, traduzia-se em opressão, privação, aviltamento e 

indignidade ilimitadas. Sua reação, portanto, não foi contra a vacina, mas 

contra a história. Uma história em que o papel que lhes reservaram pareceu-

lhes intolerável e que eles lutaram para mudar. 
SEVCENKO, N. A Revolta da Vacina: mentes insanas em corpos rebeldes. São Paulo: 

Brasiliense, 1984, p. 88 

 
 

O “povo da cidade” aprendeu a conviver intimamente com a desgraça 

coletiva, despontando com isto um senso de solidariedade em escala nunca 

vista anteriormente. O abatimento e a luta contra a peste provocaram mais 

que a reação coletiva, a reorganização do cotidiano, o repensar da vida 

individual e coletiva, a liberação dos medos e fantasias. 
BERTOLLI FILHO, C. A Gripe Espanhola em São Paulo, 1918: epidemia e sociedade. 

São Paulo: Paz e Terra, 2003, p. 365.  

 
 A Revolta da Vacina representou também uma luta contra a 

segregação social e a política de remoções forçadas no Rio de 
Janeiro, e a Gripe Espanhola evidenciou a fragilidade da 
estrutura de saúde em São Paulo. 

 As duas situações provocaram revoltas e movimentos políticos 
socialistas no Rio de Janeiro e em São Paulo devido à falta de 
infraestrutura hospitalar. 

 Apesar dos boatos e dos medos coletivos, nas duas situações, 
campanhas de esclarecimento voltadas às populações 
subalternizadas permitiram o imediato engajamento desses 
setores no combate às enfermidades. 

 Nos dois casos, formou-se um amplo consenso social que teceu 
uma rede de solidariedade capitaneada pelos sindicatos de 
trabalhadores, partidos políticos e entidades da sociedade civil. 

 A gravidade da situação vivida no Rio de Janeiro e em São Paulo 
desencadeou uma série de reformas políticas e a criação de um 
sistema de saúde universal, voltado ao atendimento da população 
mais carente. 
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 A foto abaixo foi tirada nos jardins da Casa Branca, em 13 de setembro 
de 1993, quando foram assinados os Acordos de Oslo. Sobre a foto, é 
correto afirmar que se trata 

 

 
 

  da celebração do acordo de paz entre Israel e os países árabes, 
representados respectivamente por Ytzhak Rabin e Yasser Arafat. 

 do acordo de cooperação militar entre israelenses e palestinos com 
os Estados Unidos, representados pelo presidente Bill Clinton. 

 do cessar fogo entre as tropas de Israel e da Palestina em luta desde 
a Guerra do Yom Kippur de 1973. 

 da incorporação do grupo palestino ligado a Yasser Arafat ao 
governo de coalizão de Ytzhak Rabin. 

 do reconhecimento pelos palestinos do Estado de Israel e da 
formação do governo palestino autônomo na Cisjordânia e na 
Faixa de Gaza. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 Plebiscito é um instrumento de consulta popular acerca de temas 
polêmicos em uma dada sociedade. No Brasil, ocorreram dois 
plebiscitos, em contextos bastante diversos: em 1963, durante o 
governo do presidente João Goulart e em 1993, durante o governo do 
presidente Itamar Franco. Acerca desses dois plebiscitos é correto 
afirmar: 

 
 Em 1963 decidiu-se sobre a prorrogação do mandato presidencial e 

em 1993 pelo estabelecimento de eleições diretas para a 
presidência da república. 

 Em 1963 decidiu-se sobre o fechamento do Congresso Nacional e 
em 1993 pelo estabelecimento do regime parlamentarista. 

 Em 1963 decidiu-se sobre o retorno ao regime 
presidencialista e em 1993 sobre a adoção ou não do regime 
parlamentarista. 

 Em 1963 estava em questão a manutenção do regime parlamentar 
bicameral e em 1993 discutiu-se a extinção do Senado Federal. 

 Em 1963 definiu-se as relações diplomáticas brasileiras com os 
países comunistas e em 1993 decidiu-se sobre a possibilidade de 
reeleição para a presidência da república. 

 
 

 A logística de cargas é fundamental para a economia de um país, 
porque o gerenciamento dos fluxos de bens e serviços perpassa 
praticamente todas as atividades econômicas, influenciando a 
competitividade das empresas.  

 
Sobre a logística de cargas brasileira, assinale a afirmação incorreta. 

 
 Na matriz de transporte de cargas, predomina o modal rodoviário, 

o que impacta negativamente a competitividade das empresas. 
 A eficiência da logística de cargas assumiu relevância para as 

cadeias produtivas, em razão das pressões competitivas 
decorrentes da maior abertura da economia. 

 A matriz de transportes de cargas está concentrada em 
modais de menor custo unitário, como o ferroviário e o 
hidroviário, o que agiliza a circulação da produção.  

 A existência de gargalos na logística de cargas, como as deficiências 
de conexão entre os diferentes modais de transporte, onera as 
exportações de commodities. 

 A falta de qualidade da infraestrutura e as dificuldades de 
integração dos modais de transporte interrompem os fluxos 
logísticos, o que gera estoques indesejáveis. 
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 As desigualdades que marcam as metrópoles mundiais vêm sendo 
acentuadas com a dinâmica da globalização, cujos impactos tendem a 
ser bastante expressivos em termos sociais, econômicos e espaciais. 

 
A esse respeito, analise as afirmações a seguir. 

 
I Os novos requisitos e demandas da produção flexível e da 

globalização promoveram, nas grandes metrópoles, uma profunda 
reestruturação no mundo do trabalho e na sua própria vida social.  

II Os fluxos financeiros internacionais se dirigiram preferencialmente 
às metrópoles dos países mais ricos, tornando o território mais 
homogêneo em grande escala e fracionado em pequena escala.  

III A geografia e a economia das metrópoles globais ficaram cada vez 
mais atadas aos fluxos internacionais de pessoas, de mercadorias e 
de capitais, como pontos centrais das redes que se conectam em 
tempo real.  

 
Está correto o que se afirma em 

 

 I e III, somente. 
 I, somente. 
 II e III, somente. 
 I e II, somente. 
 I, II e III. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

  
A organização japonesa do trabalho e da produção 

 

O chamado modelo japonês de produção originou-se na fábrica Toyota, 

nos anos 1950 – daí também ser designado como toyotismo. Pode-se afirmar 

que os seus elementos fundamentais são a produção flexível, as equipes de 

trabalho e o just in time (JIT). 

 
Sobre as características do toyotismo, assinale (V) para a afirmação 
verdadeira e (F) para a falsa.  

 
(X) A produção flexível permite a produção de lotes menores de produtos a 
custos competitivos, ou seja, possibilita a diversificação que atende às 
diferentes preferências dos consumidores. 
(X) As equipes de trabalho são compostas por operários polivalentes, 
capazes de realizar numerosas tarefas na linha de produção, tornando o 
trabalho menos repetitivo e mais eficiente. 
(X) O just in time reduziu drasticamente os estoques de insumos de reserva, 
calibrando-os de acordo com o nível da demanda em cada momento dado, 
crescendo ou diminuindo com ela. 
 

As afirmações são, segundo a ordem apresentada, 
 

 V – V – V. 
 V – F – V. 
 F – V – V. 
 V – F – F. 
 F – V – F. 
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 O processo de mudanças climáticas e ambientais globais, que vem se 
agravando nas últimas décadas, coloca para a sociedade o desafio sobre 
as causas e o papel das alterações ambientais e as condições de saúde.  
A respeito do cenário de mudanças climáticas e ambientais e suas 
implicações nas condições de saúde do Brasil, assinale a afirmação 
incorreta. 

 

 O aquecimento global pode ter consequências diretas sobre os 
índices de mortalidade, por meio da ocorrência de desastres 
ambientais, como enchentes, ondas de calor, secas e queimadas. 

 As flutuações climáticas sazonais produzem efeitos na dinâmica 
das doenças vetoriais, como a maior incidência da dengue, no 
verão, ou da malária na Amazônia, durante o período de estiagem. 

 Os eventos extremos, como as grandes cheias que afetam a 
qualidade da água e o acesso a ela, podem influir na dinâmica das 
doenças de veiculação hídrica, como a leptospirose e diversas 
doenças diarreicas.  

 As alterações de temperatura e as “ilhas de calor” podem 
atenuar os efeitos das doenças degenerativas devido à maior 
exposição às variações térmicas, o que contribui para diminuir 
a taxa de mortalidade. 

 As doenças respiratórias são influenciadas pelos efeitos de 
inversões térmicas que concentram a poluição e impactam 
diretamente a qualidade do ar, principalmente nas áreas 
metropolitanas. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

  
 

O setor agropecuário vem se destacando na economia brasileira nas 

últimas décadas por seu expressivo aumento em produtividade e sua crescente 

importância para a manutenção do equilíbrio da balança comercial do país. 

Hoje, um dos desafios para o desenvolvimento brasileiro é manter o 

crescimento da produção agropecuária e, ao mesmo tempo, reduzir os 

impactos dessa produção sobre os recursos naturais. Esse desafio surge em 

meio aos debates internacionais e às pressões cada vez maiores da sociedade 

por um novo modelo, que seja capaz de conciliar o crescimento econômico e a 

conservação do meio ambiente.  
Adaptado de SAMBRICHI, Regina H.R. et alii. A sustentabilidade ambiental da 

agricultura brasileira. IPEA, 2012. 
 

Sobre as relações entre a atividade agropecuária e o meio ambiente, 
assinale a afirmação correta. 

 

 A recuperação de áreas cultivadas tem diminuído a demanda por 
novas terras para cultivo, porque o custo de desmatar e incorporar 
novas áreas nas regiões de fronteira é maior que o de recuperar 
solos degradados. 

 Os impactos ambientais causados pela atividade 
agropecuária decorrem da conversão de ecossistemas 
naturais em áreas cultivadas e da degradação dessas áreas 
cultivadas, causada por práticas de manejo inadequadas. 

 A área total dos estabelecimentos agropecuários tem diminuído 
nas últimas décadas graças ao aumento do rendimento por 
hectare, o que desacelerou a conversão das florestas para outras 
formas de uso do solo.  

 A área de vegetação natural desmatada na floresta amazônica e no 
cerrado diminuiu nos últimos 20 anos devido à aplicação de 
geotecnologias de monitoramento dos níveis de degradação e ao 
maior rigor da fiscalização.   

 A expansão do agronegócio, justificado pela elevação dos preços 
das principais commodities agropecuárias no mercado 
internacional, é explicada pela adoção de novas técnicas de cultivo 
que resultam em menor desmatamento. 
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 Em fevereiro de 2020, em função da difusão da epidemia viral de COVID-
19, o Ministério da Saúde reconheceu uma situação de emergência na 
saúde pública nacional. No mês seguinte, devido ao alcance global da 
pandemia, a Câmara e o Senado aprovaram o decreto que elevava o 
grau da situação e configurava estado de calamidade pública no Brasil. 
A caracterização da crise como “situação de emergência” ou “estado de 
calamidade pública” indica o reconhecimento, pelos governantes, de 
que suas capacidades de enfrentar a crise estão comprometidas, sendo 
necessário adotar medidas extraordinárias. 

 
A respeito do estado de calamidade pública, analise as afirmações a 
seguir. 

 
I O estado de calamidade pública é decretado por governantes em 

situações anormais, decorrentes de desastres naturais ou 
provocados, e que causam graves danos à comunidade, em termos 
humanos, materiais ou ambientais. 

II No caso da União, o mecanismo dispensa o governo federal de 
obedecer ao limite de deficit previsto na lei orçamentária para o 
ano, além de suspender garantias constitucionais, como o sigilo de 
comunicações e as liberdades de imprensa e de reunião. 

III No caso de Estados e Municípios, o estado de calamidade pública 
permite renegociar o pagamento de dívidas, atrasar o pagamento 
com gastos obrigatórios e antecipar o recebimento de receitas. 

 
Está correto o que se afirma em 

 
 I, II e III. 
 I, apenas. 
 I e III, apenas 
 II e III, apenas 
 II, apenas. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

  
 
 
 
 
 
 
 
 
 
 
 
 
 

Revista Forbes, 21/03/2020. 
 

A hashtag #IAmNotAVirus (“Eu não sou um vírus”) circulou pelas redes 
sociais em fevereiro de 2020, em um momento em que vários países 
proibiam a entrada de cidadãos chineses em suas fronteiras e algumas 
autoridades batizavam o patógeno de “vírus chinês” ou “vírus de Wuhan”. 
Apesar do aparecimento da COVID-19 ser recente, a difusão de preconceitos 
e de estigma social diante de epidemias não é novidade.  
 

Sobre a relação entre epidemias e formas de discriminação, assinale (V) 
se a afirmação for verdadeira e (F) se for falsa. 

 
(X) No contexto da saúde, estigma social é a associação negativa a uma 
pessoa ou a um grupo de pessoas que compartilham certas características 
de uma doença específica, rotulado e discriminado devido a um vínculo 
percebido com a doença. 
(X) Em momentos de surtos epidêmicos, a incapacidade de explicar o 
fenômeno pode alimentar o medo coletivo do desconhecido, que, associado 
ao temor em relação aos “outros”, aumenta a difusão de estereótipos 
sociais, raciais ou de gênero. 
(X) Na conjuntura de uma emergência sanitária, legitimam-se atitudes de 
discriminação ao se vincular uma doença a um grupo de uma mesma 
origem étnica, o que é considerado crime de racismo no Brasil. 
 

As afirmações são, segundo a ordem apresentada, 
 

 V – F – V. 
 V – F – F. 
 F – V – F. 
 V – V – F. 
 V – V – V. 
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Em janeiro de 2020, dois carros foram atingidos por um drone 

estadunidense no aeroporto de Bagdá (Iraque). Entre os mortos estava o 

general iraniano Qasem Soleimani, que, por isso, passou a ser considerado 

mártir e herói nacional. Soleimani era do alto escalão da República Islâmica 

do Irã: principal comandante militar e segunda figura mais importante do 

país, na frente do presidente e atrás apenas do líder supremo, Ali Khamenei. 

Horas depois, o Pentágono confirmou que o ataque havia sido ordenado por 

Donald Trump. 
Adaptado de https://legrandcontinent.eu 

/fr/2020/01/04/10-points-sur-la-mort-de-soleymani. 

 
A respeito dos atores envolvidos no episódio e dos interesses 
americanos no Oriente Médio, assinale (V) para a afirmação verdadeira 
e (F) para a falsa. 

 
(X) O atentado foi um ato hostil resultado da escalada de tensões recentes, 
em função da retirada dos EUA do Acordo Nuclear Internacional com o Irã e 
da imposição de sanções que afetaram a economia iraniana. 
(X) Os Estados Unidos têm interesse em evitar a formação de coalizões 
hegemônicas no Oriente Médio; por isso são aliados de Israel e da Arábia 
Saudita, buscando fragilizar aliados iranianos, como o Hezbollah e o Hamas. 
(X) A contenção do peso político do Irã permite aos EUA garantir a 
navegabilidade do Golfo Pérsico aos seus aliados, assegurada pela presença 
da Quinta Frota dos Estados Unidos. 
 

As afirmações são, segundo a ordem apresentada, 
 

 V – V – V. 
 V – V – F. 
 F – V – V. 
 V – F – V. 
 F – F – V. 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 A crise global desencadeada pela COVID-19 não é apenas sanitária, 
também é geopolítica. Internamente, ela evidencia um processo de 
fortalecimento do Estado-Nação como agente centralizador de 
respostas para a saúde pública e a segurança. Externamente, ela expõe 
a dinâmica geopolítica que sustenta o posicionamento de cada país no 
atual cenário internacional. 

 
As afirmações a seguir descrevem corretamente as principais respostas 
geopolíticas à pandemia, à exceção de uma. Assinale-a. 

 
 O unilateralismo e o protecionismo dos Estados Unidos 

manifestaram-se no fechamento de suas fronteiras em relação à 
China e à União Europeia e nas sanções contra o Irã e a Venezuela. 

 A confiança nas organizações intergovernamentais e a 
adoção de soluções conjuntas marcaram a posição da União 
Europeia, que continuou respeitando o Acordo de Schengen. 

 A política de potência da Rússia ficou evidente no fechamento de 
suas fronteiras e na guerra de preços do petróleo conduzida contra 
a Arábia Saudita e a OPEP, a fim de assumir o espaço de outros 
exportadores.  

 O recurso ao soft power foi a resposta da China, que utilizou a Nova 
Rota da Seda para enviar ajuda sanitária a países afetados pela 
pandemia e, assim, reverter a imagem negativa que a associava à 
origem da doença. 

 A defesa prioritária da economia, posição inicialmente assumida 
pelo Reino Unido, foi um fator determinante na adoção da 
estratégia de “imunidade de grupo”. 
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São quase 23h30, e carros de som e barracas de bebida enchem a rua 

Herbert Spencer. Os meninos geralmente chegam em grupos e ficam à beira 

da calçada. Muitas motos fazem manobras e barulho, o chamado “bololó” – 

quando se retira o filtro do escapamento para aumentar o ruído do motor. 

Assim é a atmosfera de um dos principais eventos do mundo funk paulista: o 

fluxo, o baile de rua, algo cada vez mais comum nos bairros da periferia da 

cidade. 
Adaptado de http://especiais.g1.globo.com/sao-paulo/o-mundo-funk-paulista/. 

 
As afirmações a seguir caracterizam corretamente o fenômeno do funk, 
à exceção de uma. Assinale-a. 

 
 É uma marca identitária que se manifesta também na 

indumentária e no modo de vida de uma boa parte de jovens 
urbanos da periferia. 

 É o gênero mais influente e consumido entre jovens da periferia e 
tematiza geralmente a sexualidade, o seu cotidiano de exclusão e 
violência e os desejos de consumo. 

 Contribui para a autorrepresentação dos jovens das periferias das 
grandes cidades, que adotam uma atitude confiante e de orgulho 
da própria negritude. 

 Reúne multidões em eventos e bailes organizados longe dos 
olhares da mídia, da indústria fonográfica e das classes média 
e alta da cidade.  

 Provoca extremos de aceitação e de repúdio, sendo, para seus 
detratores, um gênero responsável pelo declínio moral e cultural da 
música brasileira. 

 
 

Fim da Prova de Humanas 


